A2 Semester 1 Chapter 2 Assessment ID:  ih.535289

Directions: Answer the following question(s).

What are the coordinates of the vertex of the graph of Sy =(x—- 3:'2 -155
A. (-3,-2.5)
B. (-25,3)
C. (3,-25)
D. (-3,25)

What is the minimum point on a graph of Jilx)=(x~ ' -3 ?
(-2,-2)

(-1,-3)

(=3,1)

(1,-3)

O0Ow> [n]

(]

Ana drew the parent graph of y=x2. How should she transform that graph to produce the graph of y=4(x
_3)2 2

She should shift it 3 units to the left.

She should shift it 3 units to the right.

She should shift it 3 units up.

She should shift it 3 units down.

oo wp

(=]

,
Stella completed the square for the expression 2x~ +5x — 12 and correctly obtained
f 507 121
2l x+ —|| - s — o d )
\ 4] 8 . Whatis the minimum value of V' = 2x~ +3x — 125

A 121
g

_3
7

2
7
121

8
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A2 Semester 1 Chapter 2 Assessment ID:  ih.535289

Directions: Answer the following question(s).

a2
Three statements about ./ (¥) = 2(x = 3)7+5 50 given.

1. The axis of symmetry is x = 3.
2. The vertex is located at (3, 5).
3. The function’s minimum value is 5.

Which statement or statements are correct?

A. all 3 statements

B. statement 3 only

C. statements 1 and 2

D. statements 2 and 3

@ What is the minimum value of ./ (¥) = xt = 10x +19 ?
A. -10

B. -6

C. 5

D. 19

-I -
After transforming S(x) =2x"+4x + 3 jnto vertex form, the vertex is easily identifiable. Which
ordered pair is the vertex?

A. (0,3)
B. (1,1
C. (1,1
D. (3,0

E The factored form of a quadratic expression is x (x — 4). The ordered pair (0, 0) represents one of the
zeros of the associated quadratic function. Which ordered pair represents the other zero?

A. (0,-4)
B. (-4,0)
C. 4,0
D. (0,4)

@ The quadratic expression x? = 2x = 35 can be factored into (x + 5)(x = 7). which ordered pairs
represent the zeros of this expression’s related quadratic function?

A. (5,0)and (-7, 0)
B. (-5,0)and (7, 0)
C. (0,-5)and(0,7)
D. (0,5)and (0, -7)
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A2 Semester 1 Chapter 2 Assessment ID:  ih.535289

Directions: Answer the following question(s).

10| Which statement about the linear factors and zeros of a quadratic function is always true?

A. The constants of the linear factors are the opposite of the function’s zeros.

B. A function’s zeros can be determined by setting each linear factor equal to 0 and solving.

C. Ifafunction’s zero is an integer, then the coefficient of the variable in the linear factor must be one.
D.

Multiplying the constants of the linear factors gives one of the function’s zeros, and adding the constants
gives the other zero.

11| The graph of a quadratic equation is shown in the coordinate plane.

g +
: [
8
\ /
: \\ !I
ja ;
N
1
11]-33?-6-5432-&_? .zdaaﬁ}'usmx
-2
-3
. uil
-5
-6
o
-4
10L

Which function matches this graph?

A. f(-r:] = _Tj -3

B. f(x)=x?+09

C fly=x'-6x+9

D. sx)=x'+6x+9
Illuminate Itembank™ Continue: Turn to the next page.
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A2 Semester 1 Chapter 2 Assessment ID:  ih.535289

Directions: Answer the following question(s).

12| Look at function below.

f(x) =4x*+3x—6

What is the value of f( — 2)?

A. 4
B. 64
C. -27
D. 4
13 R S
The graph of - 2 ~ is shown.
£ ’

o

\

\

[T ]

=
]

h b o

)

1
Which statement describes the change in the appearance of the graph if the Z is changed to a 2?

The graph will be wider.
The graph will be narrower.
The graph will have a new vertex.

Cow>»

The graph will open in the opposite direction.

14| which of the following statements is true concerning f(x) = x2 — 2x — 24?

A. The zeros of f(x) are 4 and —6 since f(x) = (X + 4)(x — 6).
B. The zeros of f(x) are 4 and —6 since f(x) = (x — 4)(x + 6).
C. The zeros of f(x) are —4 and 6 since f(x) = (x + 4)(x — 6).
D. The zeros of f(x) are —4 and 6 since f(x) = (x — 4)(x + 6).
[lluminate Itembank™ Continue: Turn to the next page.
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A2 Semester 1 Chapter 2 Assessment ID:  ih.535289

Directions: Answer the following question(s).

2
Changing the value of a in ' = @ ¢ ¢ jts opposite has what effect on the graph?

A. It changes the width of the graph.

B. It changes the vertex of the graph.

C. Itchanges the graph’s axis of symmetry.

D. It changes the direction that the graph opens.

16| Which equation represents a parabola with the same vertex as y=4(x—5)2+20 but that opens in the opposite
direction?

A.  y=—4(x-5)2+20
B. y=4(x+5)2+20
C. y=4(x+5)2-20
D. y=-4(x+5)2-20

1
17 Which of the following is the graph of ¥ = = % +47
A y C. ¥
&
14 ]I
X ¥
\/ J/
B ¥ D. =+
4 f
1 [\
£ LY
o4 | ol
[lluminate Itembank™ Continue: Turn to the next page.
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A2 Semester 1 Chapter 2 Assessment ID:  ih.535289

Directions: Answer the following question(s).

18

2
Tricia completed the square of the quadratic function Sx)=x"+14x+ 2 3nd determined the
coordinates of the minimum value are (=7, -47). Which equation must be Tricia’s result?

Fl) =+ - 47
S =(x+7)7 +47
S === 47
Flx)=(x =7 +47

o o w >

E‘ The graph of parabola is shown.

¥
.
7
B
5
i
3
1
+ \ X
IEEEEEEEEN 1f2 3 4\ 6 7 B 9
-3
[ \
ol \
\
&
1
i} ¥
Which equation is BEST represented by the graph?
A y=-(x-37+2
B. v=-Gx+3)+2
C. y=—-(x- 3)2— 2
D. ,=- (_T+3:|2—2
Illuminate Itembank™ Continue: Turn to the next page.
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A2 Semester 1 Chapter 2 Assessment ID:  ih.535289

Directions: Answer the following question(s).

2 _ .
20 Which sentence describes the relationship between the graphs of ¥ =% and .V = (x=3)7
A R 2
" The graph of V' = (x = 307 is translated 3 units up from V' =¥ -

5 j _ j
B The graph of ¥ = (x = 3)" is translated 3 units down from = ¥~

. 2
C. The graph of M = (x = 3) is translated to the left 3 units of V = X -

2 3
D. The graph of V' = (x = 3) is translated to the right 3 units of ¥ = ¥ -

21| A function f{-"':' , is graphed on the coordinate plane below.

¥
'||L B
T
E
5
\ /
lI'E £
P 4 /
S F E F
}'k A
= il o
@l?aﬁ-"’i]u‘ff ? 3 4 5 )
TN
-3
- = SN -
=5
£
o7
-8

For what value of x does .f () = =27
A 1
B. 4
C. 6
D. 7
2
22 Gerry plotted the equation Y =¥ on a coordinate grid. He wants to translate the graph 4 units to
the left and 3 units up. What will be the equation of the translated graph?
A p=(x+3)7+4
B. y=(x+47"+3
C. y=(x+47-3
D. y=(x+37-4
Illuminate Itembank™ Continue: Turn to the next page.

Generated On January 7, 2016, 4:57 PM PST Page 7




A2 Semester 1 Chapter 2

Assessment ID:

ib.535289

Directions: Answer the following question(s).

23

o0 ® »

24

o w>»

2

ol

o0 @ »

Illuminate Itembank™

2
The graph of which function is wider than the graph of Jx)=2x" - 47

glx)=3x-4
glx) = x4 4
glx)=2x" -8
glx) = ¥l -4

_ 2
The graph of parabola /' = 0.25x7 — 9 js shown on the coordinate plane below.

¥
1_ T SL f'l
\ B ;
y 1
\ . /
\ ; f
\ |
A g /
| : AEER
EEEEEEE -'._E ]2 4 5 ?i*'x
N\ /
4
5
N 1: /
"""E
5 KN

According to the graph, for which values of x is y always negative?
x>0
r< —9
¥< —bandx =0
x> —Handx <6

_ 2.2
Which equality represents .V = 3x7 + 2 \ritten in function notation?

FO=3x1+2

Flx)=3x"+2
F3=x+2
F()=3x"
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A2 Semester 1 Chapter 2

Assessment ID:  ib.535289

Directions: Answer the following question(s).

26

¥

b
The graph below represents the function f{-") =-Ix"-5x-1

= P L3 S EN O 4 D 4D

3
-4
_4
-6
| skl
:
* -
Which statement is true?
A. There are no y-intercepts.
B. There are no x-intercepts.
C. Thereis a y-intercept at (0, — 2).
D. Thereis a x-intercept at (0, — 2).
2 _ .2
27 \Wwhich describes how the graph of ¥’ = ~ X" differs from the graph of ¥’ =¥ 7
A _ 2
The graph of ¥ = — ¥ is wider.
2
B The graph of ¥ = — ¥ opens up.
2
c The graph of ¥ = — ¥ opens down.
2
b The graph of ' = — ¥ is more narrow.

3
28 What transformation would occur to the parent function, J(x) =27, {0 arrive at the new equation,

F)=(xr=2" =17
2 units left and 1 unit down

2 units left and 1 unit up
2 units right and 1 unit down

oo wp

2 units right and 1 unit up
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A2 Semester 1 Chapter 2 Assessment ID:  ih.535289

Directions: Answer the following question(s).

29| Which of the following is equivalent to finding the “zeros” of a function?
A. origin
B. slope
C. x-intercepts
D

y-intercepts

_ .2
30 The graph of V' = ¥ ~ Zis shown below.
¥
* g 1
" B
7
% /
VB
\ [
&
L
5 \ / N
g o oF o "1“14[“ 2345678789
4
5
6
Lri
i 5 g i
°

What is the solution if x=07?

A -
B. -1
C. 0
D. Z
_ 3
E‘ What is the number of x-intercepts of the graph of the function S (x)=16x"+257
A. 0
B. 1
C. 2
D. 3
Illuminate Itembank™ Continue: Turn to the next page.
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A2 Semester 1 Chapter 2 Assessment ID:  ih.535289

Directions: Answer the following question(s).

32| Study this graph of a function.

Which of these equations represents the function?

A flx)=x’
B. sixi=x+1
C. fl=x+
D. rix)=x?+1

33| What is the equation of the algebraic function that is shown in the graph?

¥
TN Ny
T W
WNEN
\N
1
4 4 A 1 1 2 45 [ b
al
o
s
T
A fl= x|
B. f(x)=x"
C. f=x°
D. f(x)=4x
Illuminate Itembank™ Continue: Turn to the next page.
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A2 Semester 1 Chapter 2 Assessment ID:  ih.535289

Directions: Answer the following question(s).

34| Which describes the zeros and maximum of this graph?

-‘I

: ;
: :
7 i
< .
B
it |
EEEEE -13-:’;‘_? H?;dﬁa?af‘r
(AT
[
& "
4
7
Im
¥l [© 1

Zeros are —2 and 2; maximum is 6.
Zeros are —6 and 6; maximum is 1.
Zeros are —1 and 1; maximum is 2.

oo wp

Zero is 2; maximum is 0.

35| Which of the following represents the minimum(s) of the graph shown below?

-8
A (3,5
B. (-5,0)and (-1, 0)
C. (-5.5,-8)and (-0.5,-8)
D. There is no minimum
Illuminate Itembank™ Continue: Turn to the next page.
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A2 Semester 1 Chapter 2 Assessment ID:  ih.535289

Directions: Answer the following question(s).

_ 2
36] which point on the parabola is one of the roots of the quadratic equation V' = = * ~ 3x+47
y
F 3
7
B
N
3
IR\
TR
: [ \ o
";?-54&{1-3-24{3 T I,
I }
i 1
/ \
=
'5 )
6
7
A (40
B. (0, -4
C. (0,4)
D. 4,0
Illuminate Itembank™ Continue: Turn to the next page.
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A2 Semester 1 Chapter 2 Assessment ID:  ih.535289

Directions: Answer the following question(s).

_ 2
37 The graphof ¥ =¥ +4x + 3 is shown below.

y

-| L

| {8,

\! 1/

\l M

\il J

- I _pe
-7 -6 B -4 21?123:55?

| 2
j
5
£

Based on the graph, which point represents a root of the equation sl dx+3=07
A. (0,3

B. (—-1,0
C. (-2,1
D. (-4, 3)

@‘ Which equation is equivalent to 6t —#°—9 =07
A (-3t-3=0
B. (3+#G3+:)=0
C. (t+3t-3)=0
D. (3+#)3-#)=0

39 ¢ (x) = 3x° + 10, what is S (— 77

A. — 137

B. —32

C. 52

D. 157
Illuminate Itembank™ Continue: Turn to the next page.
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A2 Semester 1 Chapter 2 Assessment ID:  ih.535289

Directions: Answer the following question(s).

_ 2
40 Melissa graphed a parabola with vertex at (3, 2), congruent to the parabola ' = ~ ¥ . and opening
downward. Which graph shows Melissa’s parabola?
A. ¥ C. ¥
! !
7 7
5 5
i i
3 3
2 2
1 1 11'[
‘s-ump-aa-.-‘ EREEEEEN U-au:;-&a-.-‘ﬂi/u!a s € 7 8 5]
j 4
A WA ig \
AwER ; \
) e \
|l I 5 ]
1, \ 7 ¢
ii 189 \
] v L]
B. ¥ D. ¥
! !
? ?
5 5
4 4
3 3
2 2
1 1
‘a-uru-p-ta-.-dﬁln*34;5;”"" ‘a-auu-p-ha-.-dﬂUzaa‘-.;sz'La"r
. -2 [
- 4 \
/ <l \
-7
| ;
/ B! 1 |
[ 4 2! 1
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A2 Semester 1 Chapter 2 Assessment ID:  ih.535289

Directions: Answer the following question(s).

_ .2
41 Which graph represents the quadratic function V' =% — 47
A. y C. .
1 & r [ ] f
7 7
N i\ r
5 5 "1|| /
4 4
= / 1\
"y N1
HHH i
=-?-E|--.r--l-:t-a-11ﬂ1‘!23-1'56?:1- =-?-E|--,r-l-:t-2-l1'ﬂ12311'56?:x
\ 2 ! 2
NGLY ]
b 4
5 5
£ £
.7 i
B ¥ D. y
t [ ] j t r [ ]
7 7
ALl LF 1\ f." ;
& ."f‘ 4
3 1 3
2 2
1 1
=-?-E|-~.:-l-.:-211'ﬂ1231%6?:x =-r-h-.=-a|-:-21$1231&6?:x
2 2
4 4
5 5
£ £
7 7
Illuminate Itembank™ Continue: Turn to the next page.
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A2 Semester 1 Chapter 2 Assessment ID:  ih.535289

Directions: Answer the following question(s).

42 | Which graph is the graph of an equation that has a double root of 3?

A. y C.
F 3 F 3
T A i 7
B B
"‘\ : f \ I
b ‘ F ‘
TS
2 L]
LT
= X = "; X
-?5-5-4-321_{3123456? '?5'5""3'21,{3123‘56?
.2 .2
-4 -4
5 5
6 6
-7 -7
B y D. y
F 3 F 3
7 7
B B
4 4
2 2
| ] |
= X Ll X
-?5-5-4-32;{31?’3"‘\55? E ] 2-;3123#55?
TN N
5 e
ol \ " =l
| \ [ —— e
-7 -7
* L J
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A2 Semester 1 Chapter 2 Assessment ID:  ih.535289

Directions: Answer the following question(s).

W Which of the following graphs has x-intercepts of — 1 and 2?

A. y C.
F 3 l F 3
7 7
6 \ : |
: \ sl
‘ INEEE
a ——— a ]
2 S 2
2 Pl & 2 &
'-?5-54-3--10123455r'x G EE eaqasr"x
55 Y
i J
4 - 4
& 5
£ £
-7 -T
B ¥ D. ¥y
F 3 F 3
7 7
] ]
— 4 4
o - ]
T :
N AL,
" F. P " P
EEEEEEER ERERENE EEEEEEFEE s ase ]
T, A A
T o ﬁ \u
4 -4 'u,l..
& 5
£ / £ \
e ' H

44| A graph of a quadratic function has x-intercepts of (6, 0) and (= 4. 0). which quadratic
function could be represented by this graph?

A Flx)=x"+10x+24
B. slx)=x"+10x-24
C. flx)=x'-2x-24
D. rx)=x?+2x-24
Illuminate Itembank™ Continue: Turn to the next page.
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A2 Semester 1 Chapter 2 Assessment ID:  ih.535289

Directions: Answer the following question(s).

45| what are the x- and y-intercepts of the graph of the equatien 3x — 4y = — 17
: 1 :
y—intercept — §;;|«'—111terc ept — 1
: 1 .
rmintercept: E; v—intercept: — 1
nt ; 1 ot ; 1
- - D e - S
xintercept: 3. yTtercept: 7
{nt ; 1 ot ; 1
_ - D - S
x-intercept: 7, y-intercept: 3

— .3 —
46 Which graph shows the solution for ' =% — 25 when ¥ =07
A. ¥ C.
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o
=
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-
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» [ 1
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B ¥ D ¥
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l R R
Y IoH o
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(-5, 3)*¢" d
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A2 Semester 1 Chapter 2 Assessment ID:  ih.535289

Directions: Answer the following question(s).

47

2
The graph of the equation ' = — ¥~ + 16 is shown below.

1*: (0, 16)
|

¥y
EENEN
2

".1 (3.7)

P——
E &
=]

3
From the graph, which value of x is a solution to the equation — x~ + 16 =07

A x=18&
B. »=3

C. x=-2
D. x=-4

48| Which generalization about the y-intercept for any equation is correct?

The y-intercept is located at the origin.

A

B. The y-intercept is the point located on the x-axis.

C. The y-intercept is the value of x when y is set equal to 0.
D

The y-intercept is the value of the equation when x equals 0.

49 Which statement describes the graph of * = — 1"’2 +47
A. y-intercept at (0, 4), downward curve
B. y-intercept at (0, 4), upward curve
C. x-intercept at (4, 0), left curve
D. x-intercept at (-4, 0), right curve
Illuminate Itembank™ Continue: Turn to the next page.
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A2 Semester 1 Chapter 2

Assessment ID:

ib.535289

Directions: Answer the following question(s).

50| Which of the following graphs represents the equation y = —x2 + 5?

A. 6TV

—.5..-.,.‘..5

6l

51| What is the minimum of the graph shown below?

k)
10

@ -y k) W B h O 00 WD

A. (-4, 10)

B. (-1,1)

C. (2,10)

D. There is no minimum.

[lluminate Itembank™
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A2 Semester 1 Chapter 2 Assessment ID:  ih.535289

Directions: Answer the following question(s).

52| Which of the following functions does the graph represent?

y
tl
7
V|
| |
()
i
3
2
[/
- }.F LR
-?5-5---1--321_5 1 2 34 567
2
=4
5
%
T
A. y=3x
B. =35’
C. ;|!=3:Jr3
D. :|}=3|_T|
Illuminate Itembank™ Continue: Turn to the next page.
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A2 Semester 1 Chapter 2 Assessment ID:  ih.535289

Directions: Answer the following question(s).

53| Which equation BEST represents the graph?

]

"—--—-—,______.L

.___
S

— O L e O O =l

-"l-l__

i
g
-
'

LEL]
o
Rl
{=]

-

-
-'-.&n"nkc.:ﬁ.,:.a(:

L 4

=

A. 1
ry= ﬁxj
B v= 3y’
1
y=- grj
D »= - 3y
54| Solve.
x2+2x-15=0
A. x=5x=3
B. x=-5,x=-3
C. x=-3,x=5
D. x=-5,x=3
Illuminate Itembank™ Continue: Turn to the next page.
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A2 Semester 1 Chapter 2 Assessment ID:  ih.535289

Directions: Answer the following question(s).

55| Solve for x:

(2x+1)(Bx-2)(x-1)=0
A.

1
2
B.
3
C. 1
D. 1 2
— —or—orl
2 3

Which equation BEST represents the graph on this grid?

L
1
KR
én
LEL]
bl
p
Raa
fa
-
FJN—> —a B L A N D =
D=
L]
(5
£
L
@
~i
¥

3
-4
400
I
[0
el v |4
. 1
A V= ?xj
= 3x°
C = - 3x?
1
v= - grj
Illuminate Itembank™ Continue: Turn to the next page.
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A2 Semester 1 Chapter 2

Assessment ID:  ib.535289

Directions: Answer the following question(s).

57| Which of these functions has a maximum of 6?

A. g(x)=—x2-4x-10
B. gx)=—x2-4x+2
C. g(x)=—x2-12x-38
D. g(x)=—x2+12x-38

58| Which of these functions has a minimum of —107?

Al fx)=x2+2x-9
B. fx)=x2+2x+11
C. f(x)=x2-20x+99
D. f(x)=x2+20x + 99

1
Which best represents the graph of y = — =x2 + 4?
2

A. ¥ C.

[a

-
1
[* %)
1
r
1
r
w
ol
L.I'I-
Loy
~
[ B .
P
"~
R L o

12345

aaly

s

O 00 = hoen oL B

- ._.!___.__. === j.---.!.___i....l.
e g L

1
L
A
1
Tl
1
"
1

=
L=

U P

-+

5 : 5
P Lo 4.

- o B O I O R !
3 i H -4 3
2 2
1 1
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A2 Semester 1 Chapter 2 Assessment ID:  ih.535289

Directions: Answer the following question(s).

60| What quantity should be added to both sides of this equation to complete the square?

X2 +7x =-3
A 5
2
B. 49
4
C. 49
D. 196

61| Which is the graph of y = 2(x + 4)2 + 5?

A. Ej'_* F* f C. Gj‘_‘ ¥ U
- 5__

o
41 41
3+ 3t
24 21
11 I g 14 -
T TR T N T N [ I A XY — N N I T
I T Ty 1 1 1 T r L ! 1 1 1 1 T r
-6-5-4-3-2-11 1 213 4 546 -6-5-4-3-2-1 123456
-z -2
e -3-1
r. . -iq1
-5t =
-5 -G
- -
51+ ol
4+ 4+
3t 3t
21 21
1+ & 1+ i
1 1 i I | I N N I N B W 1 i 1 1 I T RN N N Y
| r 1 1 T 1T IFr 1 | I L L L N L
-6-5-4-3-2-1 123456 -6-5-4-3-2-11 1 2 345 6
-2 ~i
s s
-a-1 -4-1
- -ig1
-G -G+
b b
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A2 Semester 1 Chapter 2

Assessment ID:

ib.535289

Directions: Answer the following question(s).

62| Which is the graph of y = —3(x — 4)2 - 1?

A.

4
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A2 Semester 1 Chapter 2 Assessment ID:  ih.535289

Directions: Answer the following question(s).

63| The graph of the equation y = x2 — x — 6 is shown below.

¥

-

For what value or values of x isy = 0?
X = —6 only

X ==2 only

x=-2andx=3

Cow>

x=2andx=-3

64| Jermaine is studying a quadratic function: he finds the function has only one root, —4.

Which statements below must be true about the graph of Jermaine's function?

I His parabola must open down.
Il The vertex of his parabola must be (-4, 0).

Il The x—intercept of his parabola must be (-4, 0).
IV[The axis of symmetry of his parabola must be x = —4.

A. landllonly
B. lland IV only
C. I, 1l and IV only
D. LI llland IV
[lluminate Itembank™ Continue: Turn to the next page.

Generated On January 7, 2016, 4:57 PM PST Page 28




A2 Semester 1 Chapter 2 Assessment ID:  ih.535289

Directions: Answer the following question(s).

65

v

What are the roots of the function shown above?

A. x=-3
B. x=-3,y=-1
C. y=-8
D. No real roots exist.
66 | If the graph of a quadratic function f(x) = ax2 + bx + ¢ has its vertex on the x-axis, which of the
following statements below is true?
A. b2 - 4acis negative.
B. b2-4acis equal to zero.
C. b2-4acis positive.
D. b2 - 4ac is undefined.
67| If the line x = 3 is the axis of symmetry of a parabola, which coordinates below could be x—intercepts
of the parabola?
A. (-1,0)and (7, 0)
B. (-1,0)and (5, 0)
C. (-3,0)and(3,0)
D. (-8,0)and (-2, 0)
68| Find the coordinates of the vertex for the graph of f(x) = —x2 + 2x + 3.
A. (-1,0
B. (1,4
C. (1,96)
D. (2,3
[lluminate Itembank™ Continue: Turn to the next page.
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A2 Semester 1 Chapter 2 Assessment ID:  ih.535289

Directions: Answer the following question(s).

69| Complete the statement below:

The graph of a quadratic equation can intersectthe x-axis__~ times.
exactly 0, 1, or 2
exactly 0, 1, 2, or 3
exactly 0 or 1

Cow>

exactly 1 or 2

— 2 —
70 Which graph shows the solution for }' = 4= 2" when ¥ =07

A. ¥ C. ¥
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